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READING QUESTIONS

Oral Argument in Bond
1. Paul Clement starts by arguing that this case is distinguishable from Missouri v. Holland, but he then makes the very same argument that failed in Holland – namely that what Justice Holmes called “some invisible radiation” from the 10th Amendment renders implementation of the Chemical Weapons Treaty unconstitutional.  Is he right to distinguish Holland (see William Dodge’s blog post)?  Is he right about the 10th Amendment?  Is it a problem that Clement cites to Lopez and Morrison, which are Commerce Clause cases?
2. Paul Clement thinks that the structure of the constitution suggests that the federal legislation encroaches on state police power.  Is that what happened in this case?
3. There’s a lot of back and forth about Clement’s proposed test for the legality of law passed pursuant to a non-self-excuting treaty.  What is his test?  How is sarin gas different from vinegar?
4. Do you find Clement’s noun/verb distinction persuasive?
5. Do you think Justice Scalia is on to something with his hypothetical treaty on same sex marriage?
6. Notice which Justices question Clement closely (Ginsburg, Kagan, Sotomayor – with the odd softball from Alito) and which question Verrilli closely (Roberts, Scalia, Breyer, Alito).  Can we predict the outcome of the case?
7. Do any of Marty Lederman’s defenses of the Bond conviction strike you as especially persuasive?


[bookmark: _GoBack]Anthea Roberts, Legality v. Legitimacy
1. Why are there questions regarding the legality of NATO’s successful intervention in Kosovo to avert a major humanitarian crisis?
2. Does it make sense to characterize the operation as illegal but justified?
3. How would the domestic law doctrine of mitigation apply to international humanitarian intervention?
4. What effect might the Kosovo intervention have on the status of international humanitarian intervention as a matter of international law?
5. What consequences might flow from adopting a notion that certain interventions are illegal but justified?
William Howard Taft, Memo in Response to Yoo & Delahunty
1. What reasons does Taft give for thinking that the Geneva Conventions apply to Taliban soldiers?
2. Does it matter that the US does not recognize the Taliban government?
3. Does it matter that the Taliban worked closely with Al Qaeda?
4. What would it mean to set up a “competent tribunal” to determine detainees’ combatant status?
5. Why does Taft think Common Article 3 applies to Taliban detainees?
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